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Apr.t $6,000 {52700} $15.000-$2,700 = $12.300 $6.000
july 1 56,000 {55,430} $15,000 - $6,000 - §5,430 = 431576 $3,570
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15 M Newman Corporation has accumu sted E&P of $10,000 on January 1, 2012. s current £apfor2012is
$50,000. it made cash disteibutions of $40,000 each on May 1 and November 1. On January 1, 2012, Newr
had two shareholders, Lisa and Reece. Fach owned 100 shares which they acquired in 2005, Lisa's adjusted
hasis of her stock was £35,000 and Reece’s was 519,000.0n October 15,2012, Susan bought 50 shares fror
Reece for $18,000. Theres uits of these events are as follows:

Cutrent £8P $50,008 5
[P o ..l. = Portionofeach distribution from current E&P
Totat distributions 380,008 B
5
May 1 distribution: 340,000 = = $25,000 from current &P
8
5
November 1distribution: 540000 x i = $2% 500 from current E&P
8
The $10,000 accumulated E&P is used up by the May 1 distribution; thus, $35,600 {525,000 + $10,000)
May 1 distribution s 3 dividend and $25,000 of the November 1 distribution is a dividend.




